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SAMPLE PAPER 7: PAPER 1

QUESTION 2 (25 MARKS)
Question 2 (a)
S =pn’ +qn
S, =pn=1"+q(n-1)=pn’ ~2pn+p+qn—q
S, =S, =T,=T,=pn’ +qn—pn’ +2pn—p—qn+q
=2pn—-p+q
T.=2p(n+l)—p+q
I.—T,=2p(n+)—p+q-2pn+p—gq
=2pn+2p—p+q-2pn+p—q
=2 p = Common Difference

a=Ty=a=2p-p+q=p+q

d=T,,-T,=2p

Question 2 (b) (i) Question 2 (b) (ii)

a, ar, ar’ Sy, =2450 = 25[21og, 1+ 491og, ] = 2450
log a, logar, log ar’ 0+49log,r =98

=loga, loga+logr, loga+2logr log, r=2
d=loga+logr—loga=Ilogr nr=3=9

a=loga

S, =24[2loga+(n—1)logr]




